UML-Diagramme von Pfeil und Zielscheibe:

[image: image1.png]Pfeil

meinstift: Stift
meineUhr: Unr

Winkel: zahl

x: zahl

y: zahl

it (px,py-zahl;pWinkel: Zahl)
I drehe ()

1 falle ()

1 fiiege ()

1 sefzeAUf (pXpos,pYPos zahl)
2 hierbenPosition (): zahl

2 hSpitzenPosition (): zahl

2 WKerbenPosition (): zahl

2 vSpizenPosition (): zahl

| GibFrei ()
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Vit (px,py:zahl)
I zeichneDich ()

2 hPosition (): zahl
2 vPosition (): zahl
1 gibfrei ()





UML-Diagramme von Ampel und Auto:

[image: image3.png]Ampel

Linit {px,py zahl)

1 schalteUm ()
I start ()

? farbe (): integer
2 links (): zahl

7 oben (): zahl

2 rechts (): zahl
2 unten (): zahl

)
1 gibfrei ()
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meinstift: Stift
meineUhr: Unr
Winkel: zahl
x: zahl
y: zahl

it (px,py-zahl;pWinkel: Zahi)
I bewegeDich ()

I dreheBis (pwinkel:zahl)

1 drehelm (pWinkel zahl)

1 sefzeAUf (pXpos,pYPos zahl)
| warte ()

2 hPosition (): zahl

2 vPosition (): zahl

2 winkel (): zahl

| GibFrei ()





